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16. (a)Though Jim was poor, he was happy(Simple)
(b)She was too busy to meet him(Compound)

(c)Because of his killing the bird, the old sailor suffer a lot(Complex)

(d)Knowledge is power(Compound)



(e) Obey your teacher or you will be punished (Complex)
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Explanation:
(a)In spite of being poor.Jim was happy.
(b)She was very busy and she could not meet him.
(c)Sine the old sailor killed the bird, he suffered a lot.
(d)It 1s knowledge and it is power.

(e)If you don't obey your teacher , you will be punished.

17. Make sentence with meaning.

All in all, A bed of roses, Crying need, A man of word, At hand.
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Explanation:
All in al=All n all, it was a good trip
A bed of roses=The life of the royal family is a bed of roses.
Crying need=There was a crying need for that to happen
A man of word=If you were a man of your word, you would be on time.

At hand=The time to decide my major 1s finally at hand but after two years of university, I still have no 1dea
what I want to study
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